

# THE NUMBER OF COMMON ORDINARY AND SCHNEIDER'S $p$ -ADIC CONVERGENTS

TOMISLAV PEJKOVIĆ, Zagreb

*Abstract.* Fix a prime  $p$ . For a positive rational number  $\alpha$  which is a  $p$ -adic unit with finite Schneider's expansion, let  $C_p(\alpha)$  denote the number of Schneider's convergents that are also ordinary continued fraction convergents of  $\alpha$ . Let  $M_p(H)$  be the maximum of  $C_p(\alpha)$  for such  $\alpha$  with height  $H(\alpha) \leq H$ . We prove that, for  $H \geq 2p + 1$ ,

$$\left\lfloor \log_2 \left( \frac{4(\log_p H + 3)}{5} \right) \right\rfloor \leq M_p(H) \leq \left\lceil \log_2 \left( \frac{4(2\log_p H + 3)}{5} \right) \right\rceil.$$

The two bounds differ by at most one. The upper bound follows from a sharp growth condition for the partial sums of the exponents in Schneider's expansion at successive common convergents. The lower bound is obtained from an explicit recursively defined family.

*Keywords:* continued fractions,  $p$ -adic continued fractions, common convergents

*MSC 2020:* 11J70, 11A55

## 1. INTRODUCTION

Let  $p$  be a prime number. Schneider's continued fraction is one of the classical continued fraction algorithms over  $\mathbb{Q}_p$ . See [5], [2], [4] for its definition and background. In [3], finite Schneider's expansions of positive rational  $p$ -adic units were compared with their ordinary real continued fractions.

For a reduced positive rational number  $\alpha = a/b$ , put  $H(\alpha) = \max\{a, b\}$ . Throughout, the ordinary convergents of a rational number are those of its normalized finite simple continued fraction, whose final partial quotient is at least 2, unless the number is an integer. Let  $C_p(\alpha)$  denote the number of rational numbers that occur both as ordinary convergents and as Schneider's convergents of  $\alpha$ , and define

$$M_p(H) = \max\{C_p(\alpha) : \alpha \in \mathbb{Q}_{>0} \cap \mathbb{Z}_p^\times, H(\alpha) \leq H, \alpha \text{ has a finite Schneider's expansion}\}.$$

In [3, Section 4], these functions were introduced and the bounds

$$M_p(H) \gg_p \log \log H, \quad M_p(H) \ll \sqrt{\log_p H}$$

were obtained. For  $p = 2$ , the same paper [3, Proposition 4.6] introduced the recursively defined family used below and proved that its  $m$ -th member has at least  $m$  common convergents. We show that this construction works for every prime and determine the exact number of common convergents in the family. A new growth lemma then gives the following nearly exact bounds for  $M_p(H)$ .

**Theorem 1.1.** *Let  $p$  be a prime. For every  $H \geq 2p + 1$ ,*

$$\left\lfloor \log_2 \left( \frac{4(\log_p H + 3)}{5} \right) \right\rfloor \leq M_p(H) \leq \left\lceil \log_2 \left( \frac{4(2\log_p H + 3)}{5} \right) \right\rceil.$$

*The two displayed integers differ by at most one. Consequently,*

$$M_p(H) = \log_2 \log_p H + O(1)$$

*as  $\log_p H \rightarrow \infty$ , where the implied constant in  $O(1)$  is absolute.*

The double logarithm in Theorem 1.1 comes from the fact that the partial sums of the exponents at successive common convergents grow exponentially, while the total sum of the exponents is bounded by a constant multiple of  $\log_p H(\alpha)$ .

We also show that, for every  $m \geq 2$ , a rational number with  $m$  common convergents must have height at least  $p^{5 \cdot 2^{m-2} - 2m}$ , while our construction gives one with height less than  $p^{5 \cdot 2^{m-2} - m}$ . Thus these two bounds differ by a factor of at most  $p^m$ .

## 2. A GROWTH LEMMA AND THE UPPER BOUND

Let

$$\alpha = [b_0, p^{a_1} : b_1, \dots, p^{a_n} : b_n]_p = b_0 + \frac{p^{a_1}}{b_1 + \frac{p^{a_2}}{\ddots + \frac{p^{a_n}}{b_n}}}, \quad 1 \leq b_j \leq p-1, \quad a_j \geq 1,$$

be a finite Schneider's expansion. Every finite expression of this form is recovered by Schneider's algorithm from its value.

The convergents  $P_k/Q_k = [b_0, p^{a_1} : b_1, \dots, p^{a_k} : b_k]_p$ ,  $0 \leq k \leq n$ , are given by

$$P_{-2} = 0, \quad P_{-1} = 1, \quad Q_{-2} = 1, \quad Q_{-1} = 0,$$

$$P_k = b_k P_{k-1} + p^{a_k} P_{k-2}, \quad Q_k = b_k Q_{k-1} + p^{a_k} Q_{k-2},$$

where  $a_0 = 0$ . Put

$$A_0 = 0, \quad A_k = a_1 + \dots + a_k \quad (k \geq 1).$$

Then

$$(2.1) \quad P_k Q_{k-1} - P_{k-1} Q_k = (-1)^{k+1} p^{A_k}.$$

For  $k \geq 1$ ,

$$P_k \equiv b_k P_{k-1} \pmod{p}, \quad Q_k \equiv b_k Q_{k-1} \pmod{p}.$$

Since  $P_0 = b_0$  and  $Q_0 = 1$ , induction gives  $p \nmid P_k Q_k$  for all  $k \geq 0$ . Any common divisor of  $P_k$  and  $Q_k$  divides the left-hand side of (2.1), and hence every  $P_k/Q_k$  is reduced. The numerators satisfy

$$P_{-1} \leq P_0 < P_1 < P_2 < \cdots,$$

while the denominators  $Q_0, Q_1, \dots$  are nondecreasing.

Let

$$\alpha = [c_0; c_1, \dots, c_N] = c_0 + \frac{1}{c_1 + \frac{1}{\ddots + \frac{1}{c_N}}},$$

be the normalized ordinary continued fraction. Write  $u_j/v_j = [c_0; c_1, \dots, c_j]$  for its convergents and put  $U_j = (u_j, v_j)^T$ . We use the usual initial vectors  $U_{-2} = (0, 1)^T$  and  $U_{-1} = (1, 0)^T$ . The standard determinant identity for ordinary continued fractions gives  $\det(U_j, U_{j-1}) = (-1)^{j+1}$ . For  $i < j$  there are positive coprime integers  $R, S$  such that

$$(2.2) \quad U_j = RU_i + SU_{i-1}, \quad \frac{R}{S} = [c_{i+1}; \dots, c_j], \quad R \geq S.$$

**Lemma 2.1.** *Suppose that  $P_r/Q_r = u_i/v_i$  and  $P_s/Q_s = u_j/v_j$  are common convergents, where  $r < s$  and  $i < j$ . Then  $s \geq r + 2$  and  $a_{r+2} \geq A_{r+1}$ . If  $r \geq 1$ , then the stronger inequality  $a_{r+2} \geq A_{r+1} + 1$  holds. Consequently,*

$$A_s \geq 2 \quad \text{if } r = 0, \quad A_s \geq 2A_r + 3 \quad \text{if } r \geq 1.$$

*Proof.* The recurrence for Schneider's convergents gives positive integers  $K, K'$  such that

$$(2.3) \quad \begin{pmatrix} P_s \\ Q_s \end{pmatrix} = K \begin{pmatrix} P_r \\ Q_r \end{pmatrix} + p^{a_{r+1}} K' \begin{pmatrix} P_{r-1} \\ Q_{r-1} \end{pmatrix}.$$

If  $s = r + 1$ , then  $K/K' = b_{r+1}$ . If  $s \geq r + 2$ , then

$$(2.4) \quad \frac{K}{K'} = [b_{r+1}, p^{a_{r+2}} : b_{r+2}, \dots, p^{a_s} : b_s]_p \leq p - 1 + p^{a_{r+2}}.$$

Since the two common fractions are reduced and positive,

$$P_r = u_i, \quad Q_r = v_i, \quad P_s = u_j, \quad Q_s = v_j.$$

By (2.3) and (2.1),

$$\begin{aligned} P_s Q_r - P_r Q_s &= p^{a_{r+1}} K' (P_{r-1} Q_r - P_r Q_{r-1}) \\ &= (-1)^r p^{A_{r+1}} K'. \end{aligned}$$

Thus this number has sign  $(-1)^r$ . On the other hand, (2.2) shows that  $u_j v_i - u_i v_j$  has sign  $(-1)^i$ . Hence  $r \equiv i \pmod{2}$ .

The vectors  $U_i, U_{i-1}$  form a basis of  $\mathbb{Z}^2$ . Write

$$\begin{pmatrix} P_{r-1} \\ Q_{r-1} \end{pmatrix} = cU_i + dU_{i-1}.$$

Taking determinants with  $U_i = (P_r, Q_r)^T$  as the first column and using the parity just obtained gives  $d = p^{A_r}$ . Moreover,  $c \leq 0$ . If  $c \geq 1$ , comparison of the first coordinates gives

$$P_{r-1} = cu_i + p^{A_r} u_{i-1} > u_i = P_r,$$

contrary to  $P_{r-1} \leq P_r$ . Thus  $c = -h$  for some integer  $h \geq 0$ . If  $r \geq 1$ , then  $h \neq 0$ . Otherwise, we would have

$$\begin{pmatrix} P_{r-1} \\ Q_{r-1} \end{pmatrix} = p^{A_r} U_{i-1},$$

which contradicts  $\gcd(P_{r-1}, Q_{r-1}) = 1$  because  $A_r \geq 1$ .

Substitution in (2.3) gives

$$U_j = (K - hp^{a_{r+1}} K') U_i + p^{A_r + a_{r+1}} K' U_{i-1}.$$

Comparison with (2.2), whose first coefficient is at least as large as its second one, yields

$$(2.5) \quad \frac{K}{K'} \geq p^{a_{r+1}} (h + p^{A_r}) \geq p^{A_{r+1}}.$$

If  $s = r + 1$ , this contradicts  $K/K' = b_{r+1} \leq p - 1$ . Hence  $s \geq r + 2$ .

If  $A_{r+1} = 1$ , then  $a_{r+2} \geq 1 = A_{r+1}$ . Assume that  $A_{r+1} \geq 2$ . If  $a_{r+2} \leq A_{r+1} - 1$ , then by (2.4)

$$\frac{K}{K'} \leq p - 1 + p^{A_{r+1}-1} < p^{A_{r+1}},$$

contrary to (2.5). Thus  $a_{r+2} \geq A_{r+1}$ .

If  $r \geq 1$ , then  $h \geq 1$ , and (2.5) gives

$$\frac{K}{K'} \geq p^{A_{r+1}} + p^{a_{r+1}}.$$

The assumption  $a_{r+2} \leq A_{r+1}$  would give

$$\frac{K}{K'} \leq p - 1 + p^{A_{r+1}} < p^{A_{r+1}} + p^{a_{r+1}},$$

which is impossible. Therefore  $a_{r+2} \geq A_{r+1} + 1$  when  $r \geq 1$ .

If  $r = 0$ , then

$$A_s \geq A_2 = A_1 + a_2 \geq 2A_1 \geq 2.$$

If  $r \geq 1$ , then

$$A_s \geq A_{r+2} = A_{r+1} + a_{r+2} \geq 2A_{r+1} + 1 \geq 2A_r + 3. \quad \square$$

**Proposition 2.2.** *Let  $\alpha = [b_0, p^{a_1} : b_1, \dots, p^{a_n} : b_n]_p$  be a positive rational  $p$ -adic unit with finite Schneider's expansion. Then*

$$C_p(\alpha) \leq \left\lfloor \log_2 \left( \frac{4(A_n + 3)}{5} \right) \right\rfloor.$$

In particular, for every  $H \geq 1$ ,

$$M_p(H) \leq \left\lfloor \log_2 \left( \frac{4(2 \log_p H + 3)}{5} \right) \right\rfloor.$$

*Proof.* List the common convergents in their ordinary order as

$$\frac{u_{i_1}}{v_{i_1}}, \dots, \frac{u_{i_t}}{v_{i_t}} = \alpha, \quad i_1 < \dots < i_t,$$

and let  $r_1, \dots, r_t$  be the corresponding indices in Schneider's expansion. The numerator sequences in both expansions are strictly increasing at nonnegative indices, so

$$r_1 < \dots < r_t = n.$$

If  $t = 1$ , then the claimed bound follows from  $A_n \geq 0$ . Suppose  $t \geq 2$ . Lemma 2.1 gives  $A_{r_2} \geq 2$ . Since  $r_2 \geq 2$ , the stronger part of the lemma applies at every subsequent step. Induction yields

$$(2.6) \quad A_{r_\ell} \geq 5 \cdot 2^{\ell-2} - 3 \quad (2 \leq \ell \leq t).$$

In particular,

$$2^t \leq \frac{4(A_n + 3)}{5},$$

which proves the estimate.

The final convergent in Schneider's expansion is  $\alpha = P_n/Q_n$ . By (2.1) and monotonicity,

$$p^{A_n} = |P_n Q_{n-1} - P_{n-1} Q_n| \leq H(\alpha)^2.$$

Thus  $A_n \leq 2 \log_p H(\alpha)$ . Taking the maximum over all admissible  $\alpha$  proves the second assertion.  $\square$

**Proposition 2.3.** *Let  $\alpha = [b_0, p^{a_1} : b_1, \dots, p^{a_n} : b_n]_p$  be a positive rational  $p$ -adic unit with finite Schneider's expansion. If  $t = C_p(\alpha) \geq 2$ , then*

$$H(\alpha) \geq Q_n \geq p^{5 \cdot 2^{t-2} - 2t}.$$

*Proof.* Let  $r_1 < \dots < r_t = n$  and  $i_1 < \dots < i_t = N$  be the indices of the common convergents in Schneider's expansion and in the normalized ordinary continued fraction. For  $1 \leq \ell < t$ , write

$$U_{i_{\ell+1}} = R_\ell U_{i_\ell} + S_\ell U_{i_{\ell-1}}$$

as in (2.2), and let  $K_\ell, K'_\ell$  be the corresponding integers in (2.3). The calculation in the proof of Lemma 2.1 gives  $S_\ell = p^{A_{r_\ell} + a_{r_\ell+1}} K'_\ell$ . Since  $R_\ell \geq S_\ell$  and  $K'_\ell \geq 1$ ,

$$v_{i_{\ell+1}} \geq p^{A_{r_\ell+1}} v_{i_\ell}.$$

The exponent for  $\ell = 1$  is at least 1. For  $\ell \geq 2$ , (2.6) gives  $A_{r_\ell+1} \geq 5 \cdot 2^{\ell-2} - 2$ . Hence, with an empty sum when  $t = 2$ ,

$$H(\alpha) \geq Q_n = v_{i_t} \geq p^{1 + \sum_{\ell=2}^{t-1} (5 \cdot 2^{\ell-2} - 2)} v_{i_1} \geq p^{5 \cdot 2^{t-2} - 2t}. \quad \square$$

### 3. AN EXTREMAL FAMILY

We use Legendre's theorem in the following form, see for example [1, Theorem 8.26]. If  $a/b$  is a reduced positive rational number and

$$(3.1) \quad 0 < \left| x - \frac{a}{b} \right| < \frac{1}{2b^2},$$

then  $a/b$  is an ordinary convergent of  $x$ . A rational number has two finite ordinary continued fraction representations, which differ only at the final partial quotient. These representations have all proper convergents of the normalized expansion in

common. Hence every ordinary convergent of  $a/b$  is also an ordinary convergent of  $x$ .

For  $n \geq 1$ , put

$$T_{p,n} = [1, p : 1, p^n : 1]_p = \frac{p^n + p + 1}{p^n + 1}.$$

The displayed numerator and denominator are coprime. If

$$\theta = [b_0, p^{a_1} : b_1, \dots, p^{a_\ell} : 1]_p,$$

let  $F_\theta(x)$  be the linear fractional expression obtained by replacing the final digit 1 by  $x$ . We retain the integral coefficients supplied by the convergent recurrence:

$$F_\theta(x) = \frac{P_{\ell-1}x + p^{a_\ell}P_{\ell-2}}{Q_{\ell-1}x + p^{a_\ell}Q_{\ell-2}} = \frac{Ax + B}{Cx + D}.$$

If  $\theta = a/b$  is reduced, then

$$(3.2) \quad A + B = a, \quad C + D = b.$$

For  $\theta = 1$ , set  $F_\theta(x) = x$ .

Define

$$\begin{aligned} \xi_1 &= 1, & n_1 &= 1, \\ n_m &= 5 \cdot 2^{m-2} - 1 \quad (m \geq 2), & \xi_{m+1} &= F_{\xi_m}(T_{p,n_m}). \end{aligned}$$

For  $m \geq 2$ , equivalently,

$$\xi_m = [1, p : 1, p^{n_1} : 1, p : 1, p^{n_2} : 1, \dots, p : 1, p^{n_{m-1}} : 1]_p.$$

**Proposition 3.1.** *For every prime  $p$  and every  $m \geq 1$ , the numbers  $\xi_1, \dots, \xi_m$  are common ordinary and Schneider's convergents of  $\xi_m$ , and  $C_p(\xi_m) = m$ .*

*For  $m \geq 2$ , the sum of the exponents in Schneider's expansion of  $\xi_m$  is  $5 \cdot 2^{m-2} - 3$ , and*

$$H(\xi_m) < 3p^{5 \cdot 2^{m-2} - m - 2} < p^{5 \cdot 2^{m-2} - m}.$$

*Proof.* The assertion is immediate for  $m = 1$ . Also,

$$\xi_2 = T_{p,1} = \frac{2p+1}{p+1} = [1; 1, p],$$

so  $\xi_1$  and  $\xi_2$  are common convergents of  $\xi_2$ .

Let  $m \geq 2$  and write

$$F_{\xi_m}(x) = \frac{A_mx + B_m}{C_mx + D_m}, \quad \Delta_m = A_mD_m - B_mC_m.$$

Since

$$[1, p : 1, p^n : x]_p = \frac{(p+1)x + p^n}{x + p^n},$$

composition gives

$$\Delta_{m+1} = p^{n_m+1} \Delta_m.$$

As  $\Delta_2 = p^2$ , induction gives

$$(3.3) \quad \Delta_m = p^{5 \cdot 2^{m-2} - 3}, \quad p^{n_m} = p^2 \Delta_m \quad (m \geq 2).$$

Write  $\xi_m = \tilde{a}_m / \tilde{b}_m$  in lowest terms so that  $\tilde{b}_m = C_m + D_m$ . Since  $T_{p, n_m} > 1$  and  $C_m, D_m > 0$ , we have  $C_m T_{p, n_m} + D_m > C_m + D_m = \tilde{b}_m$ . From

$$F_{\xi_m}(x) - F_{\xi_m}(1) = \frac{\Delta_m(x-1)}{(C_m x + D_m)(C_m + D_m)},$$

we obtain, by substituting  $T_{p, n_m}$  that

$$\begin{aligned} \xi_{m+1} - \xi_m &= F_{\xi_m}(T_{p, n_m}) - F_{\xi_m}(1) = \frac{p \Delta_m}{(p^{n_m} + 1)(C_m T_{p, n_m} + D_m) \tilde{b}_m} \\ &< \frac{p \Delta_m}{p^{n_m} \tilde{b}_m^2} = \frac{1}{p \tilde{b}_m^2} \leq \frac{1}{2 \tilde{b}_m^2}, \end{aligned}$$

where we used (3.3).

The displayed difference is positive, so  $\xi_{m+1} > \xi_m$ . By (3.1), every ordinary convergent of  $\xi_m$  remains an ordinary convergent of  $\xi_{m+1}$ . Schneider's expansion of  $\xi_{m+1}$  is obtained by replacing the final digit 1 in the expansion of  $\xi_m$  by the block  $[1, p : 1, p^{n_m} : 1]_p$ . Hence every Schneider's convergent of  $\xi_m$  remains a Schneider's convergent of  $\xi_{m+1}$ . Since  $\xi_{m+1}$  itself is a common convergent, induction shows that  $\xi_1, \dots, \xi_m$  are distinct common convergents of  $\xi_m$ .

For  $m \geq 2$ , the sum of the exponents in Schneider's expansion of  $\xi_m$  is

$$2 + \sum_{j=2}^{m-1} 5 \cdot 2^{j-2} = 5 \cdot 2^{m-2} - 3.$$

Proposition 2.2 therefore gives

$$C_p(\xi_m) \leq \left\lfloor \log_2 \left( \frac{4(5 \cdot 2^{m-2})}{5} \right) \right\rfloor = m.$$

The reverse inequality was proved above, so  $C_p(\xi_m) = m$ .



It remains to estimate the height. Since

$$\sum_{j=1}^{m-1} n_j = 5 \cdot 2^{m-2} - m - 2,$$

and  $H(\xi_{j+1}) \leq (p^{n_j} + p + 1)H(\xi_j)$  is immediate for  $j = 1$  and follows from (3.2) for  $j \geq 2$ , we have

$$H(\xi_m) \leq p^{5 \cdot 2^{m-2} - m - 2} \prod_{j=1}^{m-1} \left( 1 + \frac{p+1}{p^{n_j}} \right).$$

The factor with  $j = 1$  is at most  $5/2$ , and the factor with  $j = 2$ , if present, is at most  $19/16$ . Since  $(p+1)/p^n \leq 3/2^n$  for  $p \geq 2$  and  $n \geq 2$ , and since  $n_j \geq 2j + 3$  for  $j \geq 3$ , we have

$$\sum_{j=3}^{\infty} \frac{p+1}{p^{n_j}} \leq \sum_{j=3}^{\infty} \frac{3}{2^{2j+3}} = \frac{1}{128}.$$

Hence

$$\prod_{j=3}^{m-1} \left( 1 + \frac{p+1}{p^{n_j}} \right) \leq \frac{1}{1 - \sum_{j=3}^{m-1} \frac{p+1}{p^{n_j}}} \leq \frac{128}{127}.$$

Together with the factors corresponding to  $j = 1, 2$ , this gives

$$\prod_{j=1}^{m-1} \left( 1 + \frac{p+1}{p^{n_j}} \right) \leq \frac{5}{2} \cdot \frac{19}{16} \cdot \frac{128}{127} = \frac{380}{127} < 3.$$

Consequently,

$$H(\xi_m) < 3p^{5 \cdot 2^{m-2} - m - 2} < p^{5 \cdot 2^{m-2} - m}.$$

This proves both stated height estimates.  $\square$

*Proof of Theorem 1.1.* The upper bound is Proposition 2.2. Put  $x = \log_p H$  and

$$m = \left\lfloor \log_2 \left( \frac{4(x+3)}{5} \right) \right\rfloor.$$

The assumption  $H \geq 2p + 1$  gives  $m \geq 1$ . If  $m = 1$ , use  $\xi_1 = 1$ . If  $m = 2$ , then  $H(\xi_2) = 2p + 1 \leq H$ . Suppose  $m \geq 3$ . The definition of  $m$  gives

$$5 \cdot 2^{m-2} - 3 \leq x.$$

By Proposition 3.1,

$$H(\xi_m) \leq p^{5 \cdot 2^{m-2} - m} \leq p^{5 \cdot 2^{m-2} - 3} \leq H,$$

and  $C_p(\xi_m) = m$ . This proves the lower bound.

Finally,

$$1 \leq \frac{2x+3}{x+3} < 2.$$

The logarithms of the two arguments in the displayed bounds of the theorem therefore differ by less than 1. Their floors differ by at most one, and the asymptotic assertion follows.  $\square$

**Corollary 3.2.** *Let  $m \geq 2$  and  $H \geq 1$ . Then*

$$H < p^{5 \cdot 2^{m-2} - 2m} \implies M_p(H) \leq m-1, \quad H \geq p^{5 \cdot 2^{m-2} - m} \implies M_p(H) \geq m.$$

In particular, for  $H \geq p^{32}$ , we have  $M_p(H) \leq \log_2 \log_p H$ .

*Proof.* The function  $5 \cdot 2^{t-2} - 2t$  is increasing for integers  $t \geq 2$ . Thus the first implication follows from Proposition 2.3 by contraposition, and the second follows from Proposition 3.1.

Put  $t = M_p(H)$ . Since  $H \geq p^{32}$ , we have  $\log_2 \log_p H \geq 5$ , so the desired estimate is immediate if  $t \leq 5$ . If  $t \geq 6$ , Proposition 2.3 gives  $\log_p H \geq 5 \cdot 2^{t-2} - 2t \geq 2^t$ , since  $2^{t-2} \geq 2t$ . Hence  $t \leq \log_2 \log_p H$ .  $\square$

**Funding.** The author was supported by the Croatian Science Foundation under the project no. IP-2022-10-5008 (TEBAG). The author acknowledges support from the project “Implementation of cutting-edge research and its application as part of the Scientific Center of Excellence for Quantum and Complex Systems, and Representations of Lie Algebras”, Grant No. PK.1.1.10.0004, co-financed by the European Union through the European Regional Development Fund - Competitiveness and Cohesion Programme 2021-2027. This research was funded by the European Union’s NextGenerationEU through the National Recovery and Resilience Plan 2021-2026 Institutional grant of University of Zagreb Faculty of Science (IK IA 1.1.3. Impact4Math).

#### REFERENCES

- [1] *A. Dujella*: Number Theory. Školska knjiga, Zagreb, 2021. Zbl 1472.11001, MR4368213. ISBN 978-953-0-30897-8.
- [2] *T. Pejković*: Schneider’s  $p$ -adic continued fractions. Acta Math. Hungar. **169** (2023), no. 1, 191–215. Zbl 1524.11132, MR4566926, doi:10.1007/s10474-023-01306-w.
- [3] *T. Pejković*: Real and Schneider’s  $p$ -adic continued fractions of rational numbers. Period. Math. Hungar., to appear. Preprint.
- [4] *G. Romeo*: Continued fractions in the field of  $p$ -adic numbers. Bull. Am. Math. Soc. (N.S.) **61** (2024), no. 2, 343–371. Zbl 1545.11069, MR4726997, doi:10.1090/bull/1819.
- [5] *Th. Schneider*: Über  $p$ -adische Kettenbrüche. In: Symposia Mathematica, Vol. IV (INDAM, Rome, 1968/69), Academic Press, London–New York, 1970, pp. 181–189. Zbl 0222.10035, MR0272720.

*Author’s address:* Tomislav Pejković, Department of Mathematics, Faculty of Science, University of Zagreb, Bijenička cesta 30, 10000 Zagreb, Croatia, e-mail: pejkovic@math.hr.